)= 13+ {11+ (B2 ) wx 2+ (873w {m+ 103 wx + (160 73} fm— 1) --

3

la0 i 4l =
Ot [G33]= G (-1 +m) + = (10 +m] x+ F =

find the first solution

1
In[i11]:= Sulve[; (-160 + 160m + 80X +BMx + 41X +3x ) == 0, x| [[1]]

41 -961+72m
o —— — +

153
4 [-5201 -15012m+ 364 3 4/ —221310 + 91470 m + 54119 12 + 96 m° )

1 15
; [-52!]1 -19012m+ 364 3 '\'f 221310 + 91470 m + 54119 m? + 96 m° ] }

reduces the staternent expr by sobving the equation for vars and elirninating quantifiers.

11 961 +72m
Redm:e[—— -

%
155
9 [_5201 15012 m+ 36 4/ 3 4/ _221310 + 91470 m + 54119 m? + 96 m° ]

1 13
= (-5201-15012m+ 36 4 3 +/ -221310 + m (91470 + m {54119+ 96 m)} ) == 0, m]



